PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Cafeteria BOARD WORKSHOP/ACTION MEETING Tuesday, December 12, 2017 6:00 P.M. AGENDA

1. Call to Order

2. Reading of the Open Public Meetings Act Notice Statement-Board President

"This is to advise those present at this December 12, 2017, Regular Board Workshop/Action Meeting of the Board of Education of the City of Pleasantville, in the County of Atlantic, that Notice was given on January 11, 2017, of the 2016 Revised Annual Designation of the Regular Monthly Board Meetings, as required by the provisions of Chapter 231 of the Laws of 1975; Notice thereof has been distributed for publication in the Press, the Absecon/Pleasantville Current and the Mainland Journal, posted in the Administration Building and forwarded to the City Clerk of the City of Pleasantville, within the time required by said act."

3. Roll Call - Board Secretary, Mr. Elisha Thompkins:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny E. Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

- 4. Flag Salute and Moment of Silence
- 5. Voices of the Children- High School
- 6. Superintendent's Report
- 7. Public Comments. Please limit comments to (5) minutes and all comments should be courteous and respectful.
- 8. Review of Board Minutes NONE

Board Approval of Workshop/Action Agenda Items:

- 9. Finance
- 10. Facilities
- 11. Human Resources
- 12. Curriculum & Instruction
- 13. Executive Session

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/ Cafeteria REGULAR BOARD WORKSHOP MEETING Tuesday, December 12, 2017 Finance AGENDA

- 1. Approval of the Bill List for December 12, 2017, Warrant Account in the amount \$3,973,664.55. The payments have been reviewed by the Business Administrator/Board Secretary.
- 2. Approval of November 8, 2017, Payroll and Board Share of FICA/Medicare in the amount of \$ 1,943,407.86. The payments have been reviewed by the Business Administrator/Board Secretary.
- 3. Approval of November 22, 2017, Payroll and Board Share of FICA/Medicare in the amount of \$ 1,941,343.61.The payments have been reviewed by the Business Administrator/Board Secretary.
- 4. Approval of the Transfers for Fund 11 account ending October 31, 2017, in the amount of \$459,401.00. The Transfers have been reviewed by the Business Administrator/Board Secretary.

5. Certification of No Over Expenditures

Pursuant to N.J.A.C. 6A:22-2.11 (c), I, Mr. Elisha Thompkins, Jr., Board Secretary, certify that as of October 31, 2017, no budgetary line item account has obligation and payments which in total exceed the amount appropriated by the District Board of Education pursuant to N.J.S.A.18A:22-8 and 18A:22-8.1, and that the District financial accounts have been reconciled and are in balance.

- 6. Acceptance of the Treasurer and Secretary Reports for the month ending October 31, 2017. The Treasurer of School Monies and the Board Secretary's Reports are in balance for the cash receipts and disbursements for the month ending October 31, 2017.
- 7. Resolution to approve the following 2016-2017 Final Expenditure Reports:

NCLB Consolidated Expenditure Report for: Title I Part A, Title II, Title III & Title III Immigrant Perkins Secondary Consolidated IDEA-Basic & Preschool 21st Century Community Learning Center

- 8. **Approval** to submit amendment# 1 &2 for the FY 2018 IDEA Preschool to include carryover in the amount of \$27,173.00. Project period July 1, 2017 through June 30, 2018
- 9. WHEREAS, the Pleasantville Board of Education is the owner of certain surplus property which is no longer needed for public use; and

WHEREAS, the Board are desirous of selling said surplus property in an "as is" condition without express or implied warranties.

NOW THEREFORE, be it RESOLVED by the Pleasantville Board of Education in the City of Pleasantville, County of Atlantic, as follows:

(1)The sale of the surplus property shall be conducted through GovDeals pursuant to State Contract A-83453/T2581 in accordance with the terms and conditions of the State Contract. The terms and conditions of the agreement

entered into with GovDeals is available online at govdeals.com and also available from the Pleasantville Board of Education.

(2)The sale will be conducted online and the address of the auction site is govdeals.com.

(3)The sale is being conducted pursuant to Local Finance Notice 2008-9.

(4)A list of the surplus property to be sold is as follows:

1996Ford Econ Van 1FMNE 11W28 DA145 63

(5)The surplus property as identified shall be sold in an "as-is" condition without express or implied warranties with the successful bidder required to execute a Hold Harmless and Indemnification Agreement concerning use of said surplus property.

(6) The Pleasantville Board of Education reserves the right to accept or reject any bid submitted.

- Resolution for the Pleasantville Board of Education to approve the solicitation of competitive contracting for Custodial Maintenance Grounds Maintenance services in pursuant to Public School Contract Laws N.J.S.A 18A: 18A-4.1b(1) for the 2018-2019 school year.
- 11. **Resolution** for the Pleasantville Board of education to approve NJSBA Board Docs a cloud-base Board Management Service for the 2017-2018 in an amount not to exceed 10,000 utilizing account # 11-000-251-590-0000-351.
- 12. **Resolution to approve** entering into a jointure with Atlantic County Special Services to transport our Non Public Students to Pilgrim Academy and Assumptions Regional at the cost of \$30,000.00. Route #293 (Pilgrim Academy) and Route #273 (Assumptions Regional. The transportation cost will be the responsibility of Pleasantville School District.
- 13. **BE IT RESOLVED**, that the Pleasantville Board of Education approves the New Jersey Department of Education Division of Early Childhood Education 2014-2019 Five Year Pre-School Program Plan, and Pre-School Educational Aid 2018-2019 Annual District Budget Planning Worksheet in the amount of 7,379,141.
- 14. WHERAS, the Pleasantville Board of Education and Stockton University desires to enter into mutual contract and agreement; and

WHEREAS, the University conducts courses of study in the field of Nursing, Occupational Therapy, physical Therapy, Public Health, Exercise Science or Speech Pathology and Audiology/ communication disorder; and

NOW, THEREFORE, in consideration of the stipulation and conditions contained herein, it is mutually agreed.

15. **Resolution** for Pleasantville Public Schools to approve the Out of District Placement for 2017-18 Special Education Students.

Student ID # State ID #	Location	Effective Date	Services	Tuition	Status	Grade	Funding Source
3067403 1469116233	Coastal Learning Center	Sept. 6, 2017 – June 30, 2018	2017-2018 School Tuition	\$ 50,579.76	Continuing	7	11-000-100-566-0000-400 20-250-100-500-0000-400
2160006 8899378912	Pineland Learning Center	Sept. 7, 2017 – June 30, 2018	2017-2018 School Tuition	\$ 52,560.00	Change in Placement	9	11-000-100-566-0000-400 20-250-100-500-0000-400
1780022 6615096250	Cape May County Special	July 1, 2017 – Aug. 31, 2017	ESY Tuition and Aide	\$ 4,500.00	Continuing	12	11-000-100-565-0000-400 20-250-100-500-0000-400

ſ	Services				
	School				
	District				

16. Resolution to approve the following to approve the 2017-2018 Special Education Services Out of District Pleasantville students are as follows:

Student Local ID# / State ID#	LOCATION	EFFECTIVE DATE	SERVICES	PER DIEM/ TUITION COST	PLACEME NT	GRAD E	ACCOUNT #
13757747 / 1242880923	S.J. Bridgeton Inspira Health Network	October 16, 2017- October 18, 2017 6 hours	Educational	\$30.00 p/d Not Exceed \$180.00	Medical	12	11-150-100-320-0000-400
12566015 / 8720370301	S.J. Bridgeton Inspira Health Network	November 1, 2017- November 6, 2017 8 hours	Educational	\$30.00 p/d Not Exceed \$240.00	Medical	09	11-150-100-320-0000-400
13602661 / 4753507362	S.J. Bridgeton Inspira Health Network	October 3, 2017 – October 6, 2017 8 hours	Educational	\$30.00 p/d Not Exceed \$240.00	Medical	10	11-150-100-320-0000-400

17. WHERAS, the Pleasantville Board of Education and The School of Social Work of Rutgers University desires to enter into mutual contract and agreement; and

WHEREAS, the School of Social Work of Rutgers University for field instruction in the School's program of education for social work; and

NOW, THEREFORE, in consideration of the stipulation and conditions contained herein, it is mutually agreed.

 Motion by:
 Yea:
 Nay:

Roll Call.

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny E. Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/ Cafeteria FACILITIES USAGE AGENDA ITEMS REGULAR BOARD WORKSHOP MEETING Tuesday, December 12, 2017

1. Approval of the December12, 2017, Facilities Usage Report.

Req#	Bld / Area	Event/Contact	Date(s)	Times		Staff							Cost	t
				Beg.	E n d	#Att	SC	CS	ST	LG	Staff	Fac	App Fee	Balan ce Due
051	WAS Cafeteria	Delta Sigma Theta Sorority, INC. Holiday Cheer Event Candy Wesley	Friday 12/15/17	5:00pm- 8:00pm		100	NA	1	NA	NA	120	NC	50.	170
052	MSP Parking Lot	Passley Family Baby Shower Stephanie Passley	Saturday 1/27/18	2:00pm- 6:00pm		60	NA	1	NA	NA	120.	100.	50. paid	170.
053	PHS Auditorium Classroom	Pleasantville NAACP Tamara LaSure- Owen	2 nd Thursday Every Month 9/17-6/18	4:00pm- 6:00pm		60	NA	NA	NA	NA	NC	NC	50.	50.
054	MSP C208	MSP –Seaperch Robotics Club Elizabeth Hurley	Saturday 2/3/18- 3/3/18	9:30am- 2:30pm		20	NA	1	NA	NA	BC	NC	NC	BC
055	PHS Pool	MSP –Seaperch Robotics Club Elizabeth Hurley	Saturday 2/3/18- 3/3/18	11.00am- 2:00pm		20	NA	1	NA	NA	BC	NC	NC	BC
056	MSP Cafetorium	Refuge Church of Christ Christmas Dinner Carolyn McKenzie	Sunday 12/17/17	2:00pm- 6:00 pm		40	NA	1	NA	NA	120.	100.	\$50 paid	170
057	MSP 3rd fl. Hallway	Mt. Airy Track Club Irwin Marable	Mon-Fri 12/13/17- 4/5/18	6:00pm- 8:00pm		25	NA	NA	NA	NA	NC	NC	NC	BC
058	PHS Science Lab	Pleasantville Fire Dept. Neal Loch	Wednesday 1/16/18- 5/30/18	3:00pm- 8:00pm		30	NA	NA	NA	NA	NC	NC	\$50	\$50.
059	MSP Cafetorium	MSP- Oratorical Fundraiser Dance Shawna Coles	Friday 12/15/17	5:00pm- 9:00pm		100	1	1	NA	NA	NC	NC	NC	BC

060	MSP Cafetorium	MSP- Oratorical Fundraiser Dance Shawna Coles	Friday 12/15/17	5:00pm- 9:00pm	100	1	1	NA	NA	NC	NC	NC	BC
061	PHS Auditorium	PHS Cheer Michele Everett	MonFri 12/6/17- 2/18/18	3:00pm- 5:00pm	30	NA	NA	NA	NA	NC	NC	NC	BC
062	MSP Building	MSP Clean up Books Christine Teeny	Saturday 12/16/17	8:00 apm- 2:00pm	30	NA	6	NA	NA	NC	NC	NC	BC

MOTION BY:______ SECOND BY:______Yea: _____ Nay: _____

ROLL CALL:

Member	Yes	No	Abstain	Absent
James Barclay				
Hassan Callaway				
Bernice Couch				
Lawrence Davenport				
Anny E. Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

PLEASANTVILLE BOARD OF EDUCATION HUMAN RESOURCES AGENDA ITEMS Board Meeting Tuesday, December 12, 2017

It is recommended that the Board of Education accepts the recommendation of the Superintendent and hereby approves the following:

1. RETIREMENT:

Name	Position	Location	Effective Date	Salary	Funding Source
John Motley	Teacher	SMSS	February 28, 2017	N/A	N/A
			(Revised Date)		

2. RESIGNATION:

Name	Position	Location	Effective Date	Salary	Funding Source
Taimia Peyton	Security Guard (Substitute)	District	November 20, 2017	N/A	N/A

3. FMLA LEAVE WITH PAY AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE IS EXHAUSTED AT WHICH TIME STAFF WILL BE OBLIGATED TO COBRA BENEFITS. ALL STAFF WILL CONTINUE TO BE OBLIGATED TO MAKE PREMIUM CONTRIBUTIONS):

Name	Position	Location	Effective Date	Salary	Funding Source
Enestor Echevarria	Custodian	MSP	October 10, 2017 – June 30, 2018 (Intermittent)	N/A	N/A
Gretchen Jones	Instructional Aide	NMSS	November 9, 2017 – February 1, 2018	N/A	N/A
Alyse Skeele	Nurse	DAS	October 8, 2017 – June 30, 2018 (Intermittent)	N/A	N/A

4. FMLA LEAVE WITHOUT PAY AND WITH BENEFITS (UNTIL ACCUMULATED LEAVE IS EXHAUSTED AT WHICH TIME STAFF WILL BE OBLIGATED TO COBRA BENEFITS. ALL STAFF WILL CONTINUE TO BE OBLIGATED TO MAKE PREMIUM CONTRIBUTIONS):

••••••••					
Name	Position	Location	Effective Date	Salary	Funding Source
Sheila Goodson	Secretary	PHS	November 28, 2017 –	N/A	N/A
			June 30, 2018		
			(Intermittent)		

5. STAFF TRANSFERS:

Name	Position	Location	Effective Date	Salary	Funding Source
Anita Benbow	Secretary	LAS to PHS	December 18, 2017 – June 30, 2018	N/A	15-000-240-105-0000-050
Saudia Pettus	Secretary	Facilities to LAS	December 18, 2017 – June 30, 2018	N/A	15-000-240-105-0000-080
Janelle Robinson	English Language Arts Teacher to Educational Technology Teacher	MSP	December 18, 2017 – June 30, 2018	N/A	15-130-100-101-0000-055

Name	Position	Location	Effective Date	Salary	Funding Source
Shawna Coles	In-School Suspension Teacher to English Language Arts Teacher	MSP	December 18, 2017 – June 30, 2018	N/A	15-130-100-101-0000-055
Karen Uqdah	Secretary	CST to Business Office	December 6, 2017 – June 30, 2018	N/A	11-000-251-105-0000-351

6. MSP & PHS – ATHLETIC COACHING POSITIONS FOR 2017-2018 SCHOOL YEAR (PENDING CRIMINAL HISTORY CLEARANCE AND VERIFICATION OF EDUCATIONAL OR SUBSTITUTE TEACHER CERTIFICATION):

	•			/				
Name	Position	Location	Effective Date	Salary	Funding Source			
Harry Green	Boys' Basketball	MSP	November 27, 2017 –	\$2,446.00	15-402-100-100-0000-055			
(Teaching Certificate)	Head Coach		June 30, 2018					
William Bartle	Boys' Basketball	MSP	November 27, 2017 –	\$1,987.00	15-402-100-100-0000-055			
(Teaching Certificate)	Assistant Coach		June 30, 2018					
To ensure the students are prepared for the basketball season Dr. Clarence Alston, Superintendent of Schools approved the								
above MSP coaches to	begin 11/27/2017. The	item needs	to be ratified by the Boar	d of Education.				

7. STUDENT INTERNSHIP/TEACHING/ FIELDWORK PLACEMENTS (PENDING CRIMINAL HISTORY CLEARANCE):

					1-
Name	Placement/ Assignment	School	Effective Date	Salary	Funding Source
Robert Liess	Spanish / 9th -11th Grade	PHS	January 2, 2018 -	N/A	N/A
(Stockton University)	Jion Duttweiler		May 4, 2018		
Lilia Avila	Elementary / 1st Grade	SMSS	January 2, 2018 -	N/A	N/A
(Stockton University)	Rachel Bey-Burghart		May 4, 2018		
Nicholas Kershaw	Elementary / Kindergarten	SMSS	January 2, 2018 -	N/A	N/A
(Stockton University)	Maryanne De Blasio		May 4, 2018		
Elizabeth Gettings	Elementary/ 2 nd Grade	NMSS	January 22, 2018 –	N/A	N/A
(Rutgers University/Camden)	Renee Alford & Matthew		May 4, 2018		
· · · ·	Barnard		-		

8. A-2 CONTRACTS (PENDING CRIMINAL HISTORY CLEARANCE) BASED ON ADEQUATE STUDENT INVOLVEMENT:

Name	Position	Location	Effective Date	Stipend	Funding Source
Christina Gras	STEM	LAS	November 14, 2017 – June 30, 2018	\$864.00	15-401-100-100-0000-080
Candace Briggs	Student Council	LAS	November 14, 2017 – June 30, 2018	\$1728.00	15-401-100-100-0000-080
Crystal Moore	Art Club	LAS	November 14, 2017 – June 30, 2018	\$864.00	15-401-100-100-0000-080
Mary Lenahan	Environmental Club Advisor	LAS	November 14, 2017 – June 30, 2018	\$1728.00	15-401-100-100-0000-080
Allison Cordivari	Math Club Advisor 4 th & 5 th Grades	LAS	November 14, 2017 – June 30, 2018	\$864.00	15-401-100-100-0000-080
Syreeta Primas	Kids in the Kitchen	LAS	November 14, 2017 – June 30, 2018	\$1728.00	15-401-100-100-0000-080
Robert Manning	Afterschool Band Club	LAS	November 14, 2017 – June 30, 2018	\$864.00	15-401-100-100-0000-080
Bruce Harper	Boys Club	LAS	November 14, 2017 – June 30, 2018	\$864.00	15-401-100-100-0000-080
Patricia Barnard	Swim Club	LAS	November 14, 2017 –	\$1728.00	15-401-100-100-0000-080

Name	Position	Location	Effective Date	Stipend	Funding Source		
			June 30, 2018				
Eric Walden	Swim Club	LAS	November 14, 2017 – June 30, 2018	\$1728.00	15-401-100-100-0000-080		
Barbara Mason	Girl Power Club – 1 st and 2 nd Grades	LAS	November 14, 2017 – June 30, 2018	\$864.00	15-401-100-100-0000-080		
To ensure efficient operation of the District Dr. Alston, Superintendent of Schools approved the Leeds Avenue Clubs to begin on November 15, 2017. The item needs to be ratified by the Board of Education.							

9. ADDITIONAL STAFF FOR THE MSP AFTERSCHOOL ACADEMY (BASED ON ADEQUATE STUDENT INVOLVEMENT):

Name	Position	Location	Effective Date	Salary	Funding Source
Andrea Merline	Teacher	MSP	December 13, 2017 – June 30, 2018	\$45.00 per hour for 1.5 hours per day not to exceed \$67.50 per day	20-231-100-100-0000-545 (2017-2018 Title I SIP)
Marion Derr	Instructional Aide	MSP	December 13, 2017 – June 30, 2018	\$30.00 per hour for 1.5 hours per date not to exceed \$67.50 per day	20-231-100-100-0000-545 (2017-2018 Title I SIP)

10. ADDITIONAL STAFF FOR THE MSP AFTERSCHOOL DETENTION (BASED ON ADEQUATE STUDENT INVOLVEMENT):

Name	Position	Location	Effective Date	Salary	Funding Source
Andrea Merline	Teacher	MSP	December 13, 2017 – June 30, 2018	\$45.00 per hour for 1 hour per day for 170 days not to exceed \$7,650.00	15-421-100-101-0000-055

11. ADDITIONAL STAFF FOR THE NEWCOMERS PROGRAM (BASED ON ADEQUATE STUDENT INVOLVEMENT):

Name	Position	Location	Effective Date	Salary	Funding Source
Jessica Gaeckle	Newcomer's	PHS	December 13, 2017 –	\$864.00	20-240-200-100-0000-545
	Liaison		June 30, 2018	1/2 Stipend	(2017-2018 Title III)
Cynthia McClendon	Newcomer's	PHS	December 13, 2017 –	\$864.00	20-240-200-100-0000-545
-	Liaison		June 30, 2018	¹ ∕₂ Stipend	(2017-2018 Title III)

12. ADDITIONAL STAFF FOR THE SIOP PROGRAM (BASED ON ADEQUATE STUDENT INVOLVEMENT):

Name	Position	Location	Effective Date	Salary	Funding Source
Susana Faulhaber	SIOP Coach	WAS	December 13, 2017 –	\$864.00	20-241-200-100-0000-545
			June 30, 2018	½ Stipend	(2017-2018 Title III)

13. FRESH FRUIT AND VEGETABLE PROGRAM (FFVP) A-2 CONTRACTS FOR THE 2017-2018 SCHOOL YEAR:

Name	Position	Location	Effective Date	Salary	Funding Source
Alisa Blanchet	FFVP - School	LAS	December 13, 2017 –	\$864.00	20-800-310-100-0000-080
	Based Advisor		June 30, 2018	1∕₂ Stipend	(2017-2018 FFVP Grant)
Stacey Swann	FFVP – School	LAS	December 13, 2017 –	\$864.00	20-800-310-100-0000-080
	Based Advisor		June 30, 2018	1∕₂ Stipend	(2017-2018 FFVP Grant)
Kelly Gallagher	FFVP – School	WAS	December 13, 2017 –	\$1,728.00	20-800-310-100-0000-351
· •	Based Advisor		June 30, 2018		(2017-2018 FFVP Grant)

Name	Position	Location	Effective Date	Salary	Funding Source
Norine Bailey	FFVP – School	NMSS	December 13, 2017 –	\$1,728.00	20-910-310-100-0000-085
	Based Advisor		June 30, 2018		(2017-2018 FFVP Grant)
Lena Gault	FFVP – School	SMSS	December 13, 2017 –	\$864.00	20-910-310-101-0000-351
	Based Advisor		June 30, 2018	1/2 Stipend	(2017-2018 FFVP Grant)
Kelly Sommer	FFVP – School	SMSS	December 13, 2017 –	\$864.00	20-910-310-101-0000-351
	Based Advisor		June 30, 2018	1∕₂ Stipend	(2017-2018 FFVP Grant)
Alyse Skeele	FFVP – School	DAS	December 13, 2017 –	\$1,728.00	20-910-310-101-0000-351
	Based Advisor		June 30, 2018		\$994.50
					20-800-310-100-0000-351
					\$719.50
					20-800-310-100-0000-080
					\$14.00
					(2017-2018 FFVP Grant)
Tracy Pedano	FFVP -	District	December 13, 2017 –	\$1,728.00	20-910-310-101-0000-351
	Administrative		June 30, 2018		(2017-2018 FFVP Grant)
	Coordinator				

14. C.A.R.E PROGRAM ADDITIONAL STAFF FOR THE 2017-2018 SCHOOL YEAR:

Name	Position	Location	Effective Date	Salary	Funding Source
Amanda Fowler Sara Gendlek Kelly Hainsworth Robyn LaTorre	Certified Teacher	PHS MSP NMSS SMSS LAS	December 12, 2017 – June 30, 2018	\$45.00 per hour for 120 hours not to exceed \$5,400.00	20-290-100-100-0000-545 (2017-2018 21st CCLC)
Amanda Fowler Sara Gendlek Kelly Hainsworth Robyn LaTorre	Instructor	PHS MSP NMSS SMSS LAS	December 12, 2017 – June 30, 2018	\$25.00 per hour for 282 hours not to exceed \$7,500.00	20-290-100-100-0000-545 (2017-2018 21st CCLC)

MOTION BY: SECOND BY: Yea: ____ Nay:____

ROLL CALL:

Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

PLEASANTVILLE BOARD OF EDUCATION CURRICULUM & INSTRUCTION AGENDA ITEMS Board Workshop Meeting Tuesday, December 12, 2017

The Superintendent of Schools recommends adoption of the following:

RESOLUTION

The Pleasantville Board of Education is committed to ensuring all students succeed academically and reach their full potential in life. In doing so, it is also committed to providing opportunities for and ensuring that all students (inclusive of English Language Learners and Special Education Students) meet the New Jersey Common Core State Standards and achieve academic and long-life success.

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Abdur-Rahim Hassan	MSP	NJMEA February Music In Service Conference East Brunswick, NJ	02-22-18 02-23-18 02-24-18	\$ 180.00 Registration	15-000-223-500-0000-055
Alford Rene	NMSS	Wilson Week @ The College of New Jersey Ewing, NJ	03-20-18	\$ 375.00 Registration \$ 58.28 Mileage	15-000-223-500-0000-085 15-000-240-500-0000-085
Arthur Susan	WAS	Enhancing Trauma Awareness Woodbine, NJ	11-14-17 11-28-17 12-12-17 01-09-18 01-23-18 02-26-18 Superintendent Approved	\$ 0.00	N/A
Baralus Virginia	SMSS	Supporting Transgender Students: Knowledge, Skills & Strategies Egg Harbor City, NJ	03-02-18	\$ 0.00	N/A
Beard Vernon	C.A.R.E.	Training Institute Trenton, NJ	12-08-17 Superintendent Approved	\$ 0.00	N/A
Briggs Candace	LAS	Enhancing Trauma Awareness Woodbine, NJ	11-14-17 11-28-17 12-12-17 01-09-18 01-23-18 02-26-18 Superintendent Approved	\$ 0.00	N/A
Bucko James	LAS	Innovative New Activities for Strengthening you PE Program Cherry Hill, NJ	01-22-18	\$ 239.00 Registration \$ 18.72 Mileage	15-000-223-320-0000-080

1. WORKSHOP/CONFERENCE ATTENDANCE: (ALL TRAVEL REIMBURSEMENT SUCH AS: MILEAGE, TOLLS AND PARKING MUST HAVE RECEIPTS)

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Brooks Novelette	PHS	Working with Children: The importance of understanding trauma: AC, NJ	01-24-18	\$ 25.00 Registration	15-000-213-580-0000-050
Clarke Eric	PHS	edConnect Work Session South Galloway, NJ	11-14-17 Superintendent Approved	\$ 0.00	N/A
Amy Cutler	NMSS	Wilson Week @ The College of New Jersey Ewing, NJ	03-20-18	\$ 375.00 Registration	15-000-223-500-0000-085 15-000-240-500-0000-085
Daly Michael	PHS	South Jersey Band and Directors Meeting Glassboro, NJ	01-12-18	\$ 0.00	N/A
Deblasio Maryanne	SMSS	Conference for Kindergarten Teachers AC, NJ	02-26-18	\$ 244.00 Registration \$ 10.00 Parking	15-000-233-500-0000-095
Digironimo Nicole	Student Services	Supporting Transgender Students: Knowledge, Skills & Strategies Egg Harbor City, NJ	03-02-18	\$ 0.00	N/A
Dixon-White Daile	Business Office	QPA Examination Review New Brunswick, NJ	05-09-18 05-15-18 05-23-18	\$ 610.00 Registration \$ 120.00 Mileage	11-000-251-590-0000-351
Dixon-White Daile	Business Office	Ethics AC, NJ	05-01-18	\$ 125.00 Registration \$ 15.00 Parking	11-000-251-590-0000-351
Gensamer Rene	WAS/C&I	Learning Resources Implementation Science Part I Blackwood, NJ	02-27-18	\$ 0.00	N/A
Hannigan John	Data Processing	NJASA TechSpo 2018 AC,NJ	01-25-18 01-26-18	\$ 425.00 Registration	11-000-221-500-0000-234
Ingarciola Elizabeth	NMSS	Wilson Week @ The College of New Jersey Ewing, NJ	03-20-18	\$ 375.00 Registration	15-000-223-500-0000-085 15-000-240-500-0000-085
Kurtz Celina	SMSS	Conference for Kindergarten Teachers AC, NJ	02-26-18	\$ 244.00 Registration \$ 10.00 Parking	15-000-233-500-0000-095
Levitt Liza	MSP	Social Studies Conference 2018, Galloway, NJ	02-22-18	\$ 178.00	15-000-223-500-0000-055
Manning Catherine	Business Office	QPA Examination Review New Brunswick, NJ	05-09-18 05-15-18 05-23-18	\$ 610.00 Registration \$ 120.00 Mileage	11-000-251-590-0000-351
Manning Catherine	Business Office	Ethics AC, NJ	05-01-18	\$ 125.00 Registration	11-000-251-590-0000-351
McQueen	PHS	Supporting Transgender	03-02-18	\$ 0.00	N/A

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account #
Deneen		Students: Knowledge, Skills & Strategies Egg Harbor City, NJ			
Mossbrook Debra	Student Services	Day 2 LRF Settlement Agreement: Implementation Science Blackwood, NJ	12-05-17 Superintendent Approved	\$ 20.00 Mileage	11-00-219-500-0000-400
Miller Kristen	SMSS	Improve Behavior and Increase Learning: Pre-k- 2 nd . Program Cherry Hill, NJ	01-11-18	\$ 249.00 Registration \$ 5.27 Mileage	15-000-223-500-0000-095
Penrose Faith	WAS	AtlantiCare Grant Recipient Workshop Galloway, NJ	01-09-18	\$ 0.00	N/A
Poplawski Laurie	MSP	Supporting Transgender Students: Knowledge, Skills & Strategies Egg Harbor City, NJ	03-02-18	\$ 0.00	N/A
Ranger Donna	NMSS	Supporting Transgender Students: Knowledge, Skills & Strategies Egg Harbor City, NJ	03-02-18	\$ 0.00	N/A
Ruiz-Cooper Cynthia	WAS	Learning Resource Center: South Blackwood, NJ	02-21-18	\$ 0.00	N/A
Simon Michele	Student Services	Non-Violent Crises Intervention Training Program AC, NJ	01-30-18 02-02-18	\$ 3,049.00 Registration	11-000-219-500-0000-400
Washington Aaron	C&I	NJASA TechSpo 2018 AC,NJ	01-25-18 01-26-18	\$ 425.00 Registration	11-000-221-500-0000-234
Zachariades Mathew	PHS	edConnect Work Session South Galloway, NJ	11-14-17 Superintendent Approved	\$ 0.00	N/A

2. Activities

School/Program	Activity	Date	Cost	Account#	Time/Purpose
Early	Toys for Tots	12-18-17	\$ 0.00	N/A	10:0am-5:30pm
Childhood	2017	12-19-17			Advisory members and
		12-20-17			friends will pack Toys for
		12-21-17			Tots community winter
		12-22-17			celebration
Early	Advisory	12-15-17	\$ 0.00	N/A	3:30-6:00pm
Childhood	Meeting	12-17-17			Count and pack hats &
	-	12-18-17			gloves collected for pre-k
					students
Early	Open House for	12-15-18	\$ 280.00	20-231-200-100-0010-545	Previously BOE
Childhood	Parents				Approved: 10-17-17

School/Program	Activity	Date	Cost	Account#	Time/Purpose
					Date change
LAS	Family Literacy Night	01-25-18	\$ 0.00	N/A	6:00-8:00pm
LAS	Holiday Community Readers Day	12-20-17	\$ 100.00 Refreshments	#540	9:00am-2:00pm
LAS	K-5 Field Day	05-23-18 05-24-18 05-25-18	\$ 250.00 Refreshments	# 540	Time: TBD
LAS	5 th . Grade Field Day Pleasantville Fire Dept.	06-07-18	\$ 0.00	N/A	Time: TBD
LAS	Polar Express Pajama Day	12-15-17	\$ 0.00	N/A	8:35am-2:50pm
LAS	Parent Workshop Reading Part I	11-30-17	\$ 200.00 Refreshments	20-231-200-600-0000-545 Parent Involvement	Previously BOE approved 11/14/17: Funding Source Change only
MSP	Join together Atlantic County	12-19-17	\$ 0.00	N/A	9:30-10:30am Parents education on current drug trends and safeguards
MSP	Dress Down Day	02-21-18 05-25-18	\$ 0.00	N/A	Raise funds for the Robotic Club
MSP	Talent Show	03-22-18	\$ 0.00	N/A	6:00-9:00pm Showcase of MSP staff and Student talents
MSP	Oratorical Contest Preliminary and Final Round	05-10-18	\$ 0.00	N/A	9:30-11:00am Preliminary and final round
NMSS	Parent Digital Workshop	01-10-18	\$ 525.00 Refreshments	20-231-200-600-0000-545	4:30-6:00pm
NMSS	Jr. Achievement	01-25-18	\$ 400.00 Refreshments	15-000-240-500-0000-085	7:15am-2:00pm
NMSS	Black History Celebration	02-22-18	\$ 500.00 Refreshments	# 539	5:30-7:30pm
PHS	College Colors Dress Down Day	12-18-17	\$ 0.00	N/A	Raise funds for the class of 2021
SMSS	Special Education Day Celebration	05-10-18	\$ 300.00 Refreshments	Student activity account	1:00-2:30 pm
WAS	Pop Corn & Movie Night	01-25-18	\$ 0.00	N/A	4:00-6:30pm
WAS	Game Night	01-05-18	\$ 0.00	N/A	5:00-7:00pm

3. FUNDRAISERS:

School	Activity	Start Date	End Date	Purpose
LAS: Fundraising	Family Bingo Night (date change)	01-12-18	01-12-18	Raise funds for student activities
Committee				
MSP: Oratorical Club	Winter Wonderland Dance Snack Sale	12-15-17	12-15-17	Raise funds for student activities
MSP: Drama Club	Staff & Student Talent show ticket sale	03-12-18	03-22-18	Raise funds for student activities
MSP: Oratorical Club	March with Greatness Dress Down Day	03-16-18	03-16-18	Raise funds for student activities
PHS: Class of 2021	College Colors Dress Down Day	12-18-17	12-18-17	Raise funds for student activities
PHS: National Honor	Holiday Sweater Competition	12-21-17	12-21-17	Raise funds for student activities
Society				
PHS: Year Book Club	Dress Down Day	01-17-18	01-17-18	Raise funds for cost of yearbook
PHS: Senior Class	Get Air: Mays Landing	02-07-18	02-07-18	Raise funds for student activities

4. Field Trips:

4. Field Ir School	Activity	Location	Date/Time	Cost	Account#
Early Childhood Program NMSS LAS SMSS PHS	Bright Stars Touring Theater 135 Students 19 Chaperones	LAS/NMSS or Mt. Zion Church Location TBD	11-29-17 Superintendent Approved	\$ 795.00 To be split by 3 Early Childhood Locations DAP/LAS & NMSS	20-218-200-329-0000-234
LAS 2 nd . Grade	Adventure Aquarium 80 Students 08 Chaperones	Camden, NJ	05-2018 TBD	\$ 1,280.00 Registration	# 540
LAS Kindergarten	Story Book Land 91 Students 16 Chaperones	EHT, NJ	06-01-18 9:30am-1:30pm	\$ 658.00 Registration	# 540
MSP 7 th . Grade AVID	Stockton University 30 Students 03 Chaperones	Galloway, NJ	02-02-18 9:45am-1:30pm	\$ 0.00	N/A
MSP 6-8 th Grade Band	Stockton University Performing Arts Center 44 Students 04 Chaperones	Galloway, NJ	05-08-18 9:30am-2:00pm	\$ 0.00	N/A
MSP 8 th . Grade AVID	New York University 30 Students 03 Chaperones	NYC	02-263-18 7:00am-4:00pm	\$ 1,000.00 Transportation	20-231-100-800 (AVID)
MSP 8 th . Grade AVID	Barkley Center: 30 Students 03 Chaperones	Brooklyn, NY	03-21-18 9:00am-12:00am AVID College Fair and Basketball Game	\$ 660.00 Registration \$ 1,000.00 Transportation	20-231-100-800 (AVID)
MSP 7 th . Grade AVID	Delaware State University 30 Students 03 Chaperones	Dover, DE	03-28-18 7:45am-3:00pm	\$ 1,000.00 Transportation	20-231-100-800 (AVID)
MSP Green Team	Atlantic County Utilities Authority Environmental Park 30 Students 01 Chaperone	EHT, NJ	04-10-18 9:00am-11:30am	\$ 0.00	N/A
MSP SE	Batsto Village 12 Students 04 Chaperones	Hammonton, NJ	04-26-18 9:00am-2:30pm	\$ 0.00	N/A
MSP SE	Atlantic County Park 12 Students 04 Chaperones	Estelle Manor NJ	05-02-18+ 9:00am-2:30pm	\$ 0.00	N/A
MSP AVID 8	Rowen University 30 Students	Glassboro,	12-08-17 Date Change Only	\$ 0.00	N/A

School	Activity	Location	Date/Time	Cost	Account#
	03 Chaperones	NJ			
MSP 6 th - 8 th .	Atlantic City Aquarium 20 Students 02 Chaperone	AC, NJ	01-20-18 8:30am-12:30pm	\$ 0.00	N/A
MSP 7 th -8 th . Grade	Temple University 30 Students 02 Chaperones	Philadelphia, PA	03-09-18 6:16am-3:00pm	\$ 0.00	N/A
MSP Renaissance	Dave and Buster's 120 Students 05 Chaperones	Philadelphia, PA	03-23-18 8:30am-1:30pm	\$ 2,703.00 Registration	# 0561 Renaissance Account
MSP Renaissance	Fun Plex 115 Students 05 Chaperones	Mount Laurel, NJ	05-29-18 8:30am-1:30pm	\$ 2,610.00 Registration	# 0561 Renaissance Account
MSP 7 th . Grade	Citizens Bank 200 Students 20 Chaperones	Philadelphia, NJ	05-10-18 8:45am-5:30pm	\$ 2,640.00 Registration	7 th . Grade Activities Fund
MSP Performing Arts Club 7-8 th	Atlantic County Teen Festival 70 Students 07 Chaperones	Hammonton, NJ	04-27-18 8:45am-2:00pm	\$ 350.00 Registration	#0804 Activities Account
PHS 9-12 th Grade Art	Lucky Dog Custom Apparel 40 Students 04 Chaperones	Pleasantville, NJ	01-04-18 9:00am-10:45am	\$ 200.00 Registration	15-190-100-800-0000-050
PHS 12 th . Dual Credit	Dr. Memorial WWII Memorial 20 Students 02 Chaperones	Washington, DC	01-12-18 6:30am-8:30pm	\$ 0.00 Fully Funded by Donor and Holocaust survivor Mr. Donald Berkman	N/A
PHS US History Class	Philadelphia Museum of Art 20 Students 04 Chaperones	Philadelphia, PA	01-18-18 8:30am-1:30pm	\$ 172.00 Registration	15-190-100-800-0000-050
PHS 11th. Grade	Battleship New Jersey 45 Students 05 Chaperones	Camden, NJ	04-20-18 8:00am-5:00pm	\$ 450.00 Registration	15-190-100-800-0000-050
PHS 9-12 th . Grade Band	Rowan University 30 Students 03 Chaperones	Glassboro, NJ	03-07-18 8:30am-4:30pm	\$ 0.00	N/A
PHS 9-12 th . Grade Band	Newark St. Patrick's Day Parade 40 Students 04 Chaperones	Newark, NJ	03-16-17 9:30am-5:00pm	\$ 0.00	N/A
PHS 9-12 grade JROTC	Junior Achievement 30 Students 02 Chaperones	NMSS Pleasantville, NJ	01-25-18 8:00am-2:00pm	\$ 0.00	N/A
PHS 9-12 grade JROTC	Lenape High School Competition 30 Students 03 Chaperones	Medford, NJ	02-10-18 6:00am-6:00pm	\$ 525.00 Registration	15-190-100-800-0000-050 15-000-270-512-0000-050
PHS 9-12 grade JROTC	Junior Achievement 30 Students 02 Chaperones	WAS Pleasantville, NJ	02-23-18 8:00am-2:00pm	\$ 0.00	N/A
PHS 9-12 grade JROTC	South Jersey League Raiders Competition 30 Students	Franklinville, NJ	03-02-18 7:00am-3:00pm	\$ 0.00	N/A

School	Activity	Location	Date/Time	Cost	Account#
PHS 9-12 grade JROTC	02 Chaperones Junior Achievement Mentorship Forum 30 Students 02 Chaperones	Mt. Laurel, NJ	03-09-18 05-11-18 8:15am-2:30pm	\$ 0.00	N/A
PHS 9-12 grade JROTC	Golden Nugget Casino Directors of Athletics association of New Jersey Annual Banquet 30 Students 02 Chaperones	AC, NJ	03-15-18 4:00pm-6:30pm	\$ 0.00	N/A
PHS 9-12 grade JROTC	Junior Achievement 30 Students 02 Chaperones	LAS Pleasantville, NJ	03-23-18 8:00am-2:00pm	\$ 0.00	N/A
PHS 9-12 grade JROTC	South Jersey League Raiders Competition 30 Students 02 Chaperones	Franklinville, NJ	04-21-18 7:00am-3:00pm	\$ 375.00 Registration	15-190-100-800-0000-050
PHS 9-12 grade JROTC	Pemberton Township South Jersey Joint Military Services Commanders Cup Competition 30 Students 02 Chaperones	Fort Dix, NJ	05-10-18 7:00am-3:00pm	\$ 100.00 Registration	15-190-100-800-0000-050
PHS 9-12 grade JROTC	Veterans of Foreign Wars Parade 30 Students 03 Chaperones	Wildwood, NJ	06-16-18 11:30am-6:30pm	\$ 0.00	N/A
PHS 9-12 grade JROTC	Charles A. Hammel Post # 28 American Legion 30 Students 03 Chaperones	Absecon, NJ	05-28-18 7:30am-11:30am	\$ 0.00	N/A
PHS 9-12 grade JROTC	Ft. Dix Museum and Recreation Center 30 Students 03 Chaperones	Ft. Dix, NJ	06-01-18 7:00am-5:0pm	\$ 1,100.00 Registration	JROTC Activity Account # 42
PHS 9-12 grade JROTC	New York Military Academy 30 Students 03 Chaperones	Hudson, NY	06-23-18 8:00am-4:00pm	\$ 1,250.00 Registration	15-190-100-8500-0000-050 15-000-270-512-0000-050
PHS US History	Historic Cold Springs Village 20 Students 04 Chaperones	Cape May, NJ	05-22-18 8:30am-1:30pm	\$ 240.00 Registration	15-190-100-800-0000-050
WAS 3 rd . Grade	Pleasantville Police Dept. 81 Students 08 Chaperones	Pleasantville, NJ	11-20-18 9:00am-11:00 Superintendent Approved	\$ 0.00	N/A
WAS 5 th . Grade	Stockton Performing Arts Center 70 Students 06 Chaperones	Galloway, NJ	02-16-18 9:30am-1:00pm	\$ 0.00	N/A
WAS 5 th . Grade	Rutgers Camden Performing Arts Center 70 Students 06 Chaperones	Glassboro, NJ	02-23-18 8:30am-12:30pm	\$ 700.00 Registration	15-190-100-800-0000-060
WAS	Tuckerton Seaport	Tuckerton,	05-29-18	\$ 450.00	15-190-100-800-0000-060

School	Activity	Location	Date/Time	Cost	Account#
4 th . Grade	75 Students 06 Chaperones	NJ	9:30am-2:00pm	Registration	
WAS 2 nd . Grade	Cape May Park & Zoo 72 Students 12 Chaperones	Cape May, NJ	04-23-18 8:30am-2:00pm	\$ 0.00	N/A

- 5. Be it Resolved, that the Pleasantville Board of Education approve a Giving Back to the Community/Volunteer Activity at the Middle School of Pleasantville on Dec. 16, 2017 from 8am until 12pm. During this event students, teachers, club advisors, and administrators will come together to clear out old inventory, sort and catalogue the materials, and ultimately donate the materials to the community and/or schools in need. The students/chaperones will be rewarded for their efforts with a lunch provided by the school. We are anticipating about 50 students and 10 chaperones to participate in this event, including the Pleasantville High School football team and National Honor Society
- 6. Be it Resolved, that the Pleasantville Board of Education approve Dr. Charles Paslay to provide training for the social studies, science, and related academic teachers at MSP on December 20, 2017. This professional development is free with the purchase of his instructional manuals- Highly Effective Writing, 8th Edition. MSP will purchase 350 Highly Effective Writing books to be utilized to improve writing across the content areas.
 - Name: Highly Effective Writing Books and PD
 - Location: Middle School of Pleasantville
 - Cost: \$10 per book plus 8% S&H (\$10.80 per book/ Professional Development included). 350 books
 @\$10.80 each= \$3,780.00
 - Funding Source: 15-190-100-610-0000-055
- 7. Be it Resolved, that the Pleasantville Board of Education approve NMSS to accept donations from Benevity a charity enhancing the charitable landscape. Their mission is to help improve the way global charities access and become eligible for corporate giving. Donations are school supplies donated directly to the school. Monetary donations will be deposited into the student activity account to be used for student activities and incentives.
- 8. Be it Resolved, that the Pleasantville Board of Education approve Young Lawyers in Atlantic City, NJ to host a holiday party and donate gifts for selected NMSS students. Students will travel to Atlantic City with identified chaperones for the holiday festivities. The students will dine, participate in structured activities, enjoy the company of other school districts and learn the art of giving.
- 9. Be it Resolved, that the Pleasantville Board of Education approve the following teachers planning and preparation time to present on the District Wide Professional Development Day on Friday, February 16, 2018. These workshops are follow up workshops to our "All Things Google Training" that took place on our October 6th Districtwide Professional Development Day. Planning and Preparation will take place in January and February to present workshops to teachers on Friday, February 16, 2018.
 - Salary Rate 3 preparation hours for teacher @ \$30.00 per hour = \$90.00.
 - Total project not to exceed \$1,080.00
 - Funding Source 11-000-221-104-000-234

Name	Location	Cost	Date	Account #	
Tina Favre	WAS	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234	
Matthew Mierzwinski	PHS	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234	
Ademir Duttweiller	PHS	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234	

Robyn Lee	MSP	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234
Christina Gras	LAS	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234
Dominick Dougherty	MSP	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234
Erik Clark	MSP	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234
Susan Swezeny	MSP	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234
Tim Kelly	NMSS	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234
Regina Truno	MSP	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234
Robyn LaTorre	PHS	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234
Carla Block-Ropiecki	MSP	3 Hours @ \$30.00 per hour Not to Exceed \$90.00	January-February 2018	11-000-221-104-000-234

- **10.** Be it Resolved, that the Pleasantville Board of Education approve (2) additional members, Aaron Washington and Lindsey Marchessani, to the Report Card Committee that was approved on the November 14, 2017 BOE agenda. These additional members will assist with the technological aspect of changing over the report card via the Student Information System.
 - Name: Report Card Committee
 - Funding Source: 11-000-221-104-000-234
 - Total Cost (revised): 13 members' total- not to exceed \$5,850.00

Name	Date	Cost	Account #
Renee Alford	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Renee Gensamer	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Ericka Watson	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Marshella Cass	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Tatiana Cunningham	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Stephanie Beningo	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Tina Favre	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Christine Teeney	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Alison Cordivari	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Keisha Medina	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Lindsey Marchessani	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Aaron Washington	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234
Jennifer Elwell	Nov 2017- June 2018	15 hours @\$30.00 not to exceed \$450.00	11-000-221-104-0000-234

- **11.** *Be it Resolved, that the Pleasantville Board of Education approve* the following curricula for Pleasantville High School, grades 9-12:
 - World Myths and Legends
 - Genetics
 - Forensic Science
- **12.** Be it Resolved, that the Pleasantville Board of Education approve invoice # 1615 from The New Jersey Center for Teaching and Learning in the amount of \$ 3,900.00 utilizing funding source #11-000-221-320-00000-234. This is for the following teacher's to complete the PHS Physics Endorsement Program: Trigonometry Based Physics Summer Program (May-June).
 - Sara Bailey
 - Robyn LaTorre
 - Denis Kubaska
 - Jessica Howell
 - Dimitar Petrov
- **13.** Be it Resolved, that the Pleasantville Board of Education approve the following teachers to write or update curricula in order to become articulated, dual credit or Advanced Placement courses utilizing account number 11-000-221-104-0000-234.

Names	Course	Location	Effective Dates	Salary	Funding Source
Lindsey Marchesani	Chemistry Honors (Update)	PHS	December 15th, 2017- January 9th, 2018	10 hours at \$30.00 per hour, not to exceed \$300.00	11-000-221-104-0000-234
Kelly Hainsworth	Web Design (Update)	PHS	December 15th, 2017- January 9th, 2018	10 hours at \$30.00 per hour, not to exceed \$300.00	11-000-221-104-0000-234
Kelly Hainsworth	Graphic Design II (New)	PHS	December 15th, 2017- January 9th, 2018	20 hours at \$30.00 per hour, not to exceed \$600.00	11-000-221-104-0000-234
Kelly Hainsworth	Graphic Design I (New)	PHS	December 15th, 2017- January 9th, 2018	20 hours at \$30.00 per hour, not to exceed \$600.00	11-000-221-104-0000-234
Kelsey Shockley	Hospitality and Tourism (Update)	PHS	December 15th, 2017- January 9th, 2018	10 hours at \$30.00 per hour, not to exceed \$300.00	11-000-221-104-0000-234
Lindsey Marchesani	Probability and Statistics (Updates)	PHS	December 15th, 2017- January 9th, 2018	10 hours at \$30.00 per hour, not to exceed \$300.00	11-000-221-104-0000-234
Merin Willy	Pre-calculus (Updates)	PHS	December 15th, 2017- January 9th, 2018	10 hours at \$30.00 per hour, not to exceed \$300.00	11-000-221-104-0000-234
Kelsey Shockley	African American Studies (New)	PHS	December 15th, 2017- January 9th, 2018	20 hours at \$30.00 per hour, not to exceed \$600.00	11-000-221-104-0000-234

14. Be it Resolved, that the Pleasantville Board of Education approve the following PHS winter schedules, (see back up for complete schedules)

- Varsity Boys' Basketball
- JV Boys' Basketball

- Freshmen Boys' Basketball
- Indoor Track
- Swimming
- Girls' Varsity Basketball
- **15.** Be it Resolved, that the Pleasantville Board of Education approve ABC Therapy to conduct ongoing "Nurtured Heart" Training for the teachers of Pleasantville High from December 2017 to June 2017. The Nurtured Heart Approach is a <u>social emotional strategy</u> that instills greatness and transforms negative behaviors into positive behaviors, increases interrelatedness and connectivity among teachers and students and builds "Inner Wealth" more commonly known as character strengths and virtues.
- **16.** *Be it Resolved, that the Pleasantville Board of Education approval* Pleasantville High School to operate a Pre-Apprentice Culinary Arts & Baking Program. The program will operate for fifteen (15) weeks on Mondays and Wednesdays from 2:45pm–4:45pmbeginning January 2018. The program will consist of juniors and seniors attending PHS. The participants will go through an interview process to gain entry into the program, and they will have the opportunity to visit local establishments for the purpose of job tours and job shadowing activities. The participants will learn the fundamentals of culinary arts and baking. The Local 54 will provide a certified Chef to train the students as well as uniforms, tools, and materials. The district is required to have a certified staff member on duty when using school facilities and to supervise students. The cost for the program includes one (1) certified staff member for 15 weeks x 4 hours/week x \$45.00 per hour at a cost not to exceed \$2,700.00 utilizing account # 15-421-100-101-0000-050.
- 17. Be it Resolved, that the Pleasantville Board of Education approve Pleasantville High School to partner with Ideal Institute of Technology to host a Technothon Fundraiser on January 25, 2018, and Robotics workshop for students during the Technothon. Pleasantville High School. During the Technothon, cell phones, computers, and lap tops can be fixed or donated. All proceeds will be split between PHS and Ideal Institute of Technology.
- 18. Be it Resolved, that the Pleasantville Board of Education approve Pleasantville High School to host Ideal Institute of Technology on January 18th. for a symposium with PHS students to discuss the partnership with Pleasantville High School, and the new opportunities available to them. This symposium will also allow students an opportunity to register for upcoming technology workshops.
- **19.** *Be it Resolved, that the Pleasantville Board of Education approve* Pleasantville High School students that were accepted into Stockton's F.U.T.U.R.E. educators programs to attend their F.U.T.U.R.E. Acceptance Ceremony on November 13, 2017 at Stockton University at 4pm.
- **20.** *Be it Resolved, that the Pleasantville Board of Education approve* 20 Pleasantville Art students to attend the Atlantic City Arts Foundation art exhibit called ARTeriors at Tanger Outlets the Walk in Atlantic City, on December 19th at 9:00am, which will feature installation artworks by several local artists, some of whom live in Atlantic City. Students will be able to view the artworks and talk with curators and artists involved in the exhibit.
- 21. Be it Resolved, that the Pleasantville Board of Education approve the Middle School of implement edmentum as a secondary technology tool for the Mathematics Department as a free trial for three weeks using three math teachers.
- 22. Be it Resolved, that the Pleasantville Board of Education approve the Pleasantville School District Nursing Services Plan 2017-2018. (see backup)

- 23. Be it Resolved, that the Pleasantville Board of Education approve WAS to apply for the NJ Farm to School Mini Grant for School Gardens. The purpose of this grant is to support school gardens that grow fruit and vegetables. Monies will pay for vegetable plants, equipment and supplies.
- 24. Be it Resolved, that the Pleasantville Board of Education approve Saint Paul AME Church (Seniors of Silver Star Mission) at 1203 Harrison Avenue, Pleasantville, NJ 08232 to help a needy family at SMSS. They would like to provide clothing and shoes for each child in the selected family for the 2017-2018 school year. Saint Paul AME Church is happy to bring Blessings to a needy family during this holiday season.
- 25. Be it Resolved, that the Pleasantville Board of Education approve Family Art Night on March 20, 2018 to celebrate Youth Art Month. The Fresh Artist Organization donate supplies for the sale. Our Young Entrepreneur Club Run "Pablo's Clothesline Art Sale as a fundraiser to raise funds for art supplies. Projects made by art classes and art club are sold. Proceeds are split between WAS and SMSS.
- 26. Be it Resolved, that the Pleasantville Board of Education approve (9) teachers to receive CPR, First Aid, and AED recertification through the Red Cross. The training for this recertification was completed on February 17, 2017 during our district professional development day.

Names	Location	Effective Date	Certification Fee	Funding Source
Timothy Mack	PHS	February 17, 2017	\$19.00	15-401-100-500-0000-050
Angelica Sims	PHS	February 17, 2017	\$19.00	15-401-100-500-0000-050
Michelle Stevenson	PHS	February 17, 2017	\$19.00	15-401-100-500-0000-050
Patti Savage	MSP	February 17, 2017	\$19.00	15-401-100-500-0000-050
Steven Sabatino	MSP	February 17, 2017	\$19.00	15-401-100-500-0000-050
Harry Green	MSP	February 17, 2017	\$19.00	15-401-100-500-0000-050
Katie Jackson	NMSS	February 17, 2017	\$19.00	15-401-100-500-0000-050
H. Lelli	WAS	February 17, 2017	\$19.00	15-401-100-500-0000-050
Timothy Newkirk	WAS	February 17, 2017	\$19.00	15-401-100-500-0000-050

27. Be it Resolved, that the Pleasantville Board of Education approve 6 teachers to participate in the Middle School of Pleasantville's Math Committee, as per the MSP School Improvement Plan. The committee will work collaboratively to modify and enhance Math Curriculum, adjust pacing, and revise assessments to monitor student progress. The team will meet a total of 20 hours over the course of the school year. Utilizing Title I funds 20-231-200-100-0000-545. This is Smart Goal No. 2 and action step No. 3.

Name	Position	Effective Date	Location	Salary	Funding Source
Bruce	8 th . Grade	December 2017-June 2018	MSP	\$ 30.00 per hour not	Title I SIP
Jones	Math Teacher			to exceed \$ 600.00	20-231-100-0000-545
Rene	8 th . Grade	December 2017-June 2018	MSP	\$ 30.00 per hour not	Title I SIP
Thompson	SE Teacher			to exceed \$ 600.00	20-231-100-0000-545
Carin	7 th . Grade	December 2017-June 2018	MSP	\$ 30.00 per hour not	Title I SIP

Denman	Teacher			to exceed \$ 600.00	20-231-100-0000-545
Sara	7 th . Grade	December 2017-June 2018	MSP	\$ 30.00 per hour not	Title I SIP
Gonzalez-Torres	ESL			to exceed \$ 600.00	20-231-100-0000-545
Debra	6 th . Grade	December 2017-June 2018	MSP	\$ 30.00 per hour not	Title I SIP
Battle	Teacher			to exceed \$ 600.00	20-231-100-0000-545
Joseph	Academic	December 2017-June 2018	MSP	\$ 30.00 per hour not	Title I SIP
Lewis	Math Coach			to exceed \$ 600.00	20-231-100-0000-545

28. Be it Resolved, that the Pleasantville Board of Education approve the following Students for Home Instruction.

Student ID#/State ID #	Projected Number of Days	Projected Number of Hours	Cost Per Hour	Projected Total Cost	TYPE	GRADE	ACCOUNT#
3005640 / 4320486031	50	50	\$45.00	\$2250.00	ADMIN	08	11-150-100-101-0000-400
13248244 / 5404129369	40	80	\$45.00	\$3600.00	MEDICAL	05	11-219-100-101-0000-400
3054003 / 3630461690	6	6	\$45.00	\$270.00	ADMIN	11	11-150-100-101-0000-400
3085743 / 4849825481	40	80	\$45.00	\$3600.00	ADMIN	04	11-219-100-101-0000-400
11231587 / 8403136682	40	80	\$45.00	\$3600.00	ADMIN	11	11-219-100-101-0000-400
13714420 / 8978004594	40	40	\$45.00	\$1800.00	ADMIN	02	11-150-100-101-0000-400
12572037 / 2756122801	35	35	\$45.00	\$1575.00	MEDICAL	10	11-150-100-101-0000-400
1885019 / 4471857445	40	40	\$45.00	\$1800.00	MEDICAL	12	11-150-100-101-0000-400
13770431 / 5278663211	15	15	\$45.00	\$ 675.00	MEDICAL	09	11-150-100-101-0000-400
2095108 / 7465298852	20	20	\$45.00	\$900.00	MEDICAL	12	11-150-100-101-0000-400

MOTION BY: ______ Yea: ____ Nay: _____

ROLL CALL

Member	YES	NO	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

Motion to go into Executive Session

Motion by _____ Second by _____

Executive Session Motion by ______ and Seconded by ______ at _____ p.m., it is hereby resolved that the Pleasantville Board of Education may go into closed or private session from which the public shall be excluded in accordance with the provisions as set forth in N.J.S.A. 10:4-12 and 10:4-13. The following subjects shall be discussed on this date in the session of the Board closed to the public: PERSONNEL, PUPIL MATTERS, PENDING, AND ANTICIPATED LITIGATION. BE IT FURTHER RESOLVED that the discussion in closed session will be disclosed to the public at this time or a future meeting of the Board when it is no longer necessary to maintain the confidential nature of the items discussed.

Roll Call:				
Member	Yes	No	Abstain	Absent
James Barclay				
Bernice Couch				
Lawrence Davenport				
Anny Melo				
Sharnell Morgan				
Elysa Sanchez				
Ethel Seymore				
Carla Thomas				

Motion to come out of Executive Session

Motion by:	Second by:				_ Yea:	_ Nay:
Roll Call:			-			·
Member	Yes	No	Abstain	Absent		
James Barclay						
Bernice Couch						
Lawrence Davenport						
Anny Melo						
Sharnell Morgan						
Elysa Sanchez						
Ethel Seymore						
Carla Thomas						

Reconvene Board Meeting

Motion to Adjourn the Meeting

Motion by:	Second by:				Yea: Nay:
Roll Call:			•		
Member	Yes	No	Abstain	Absent	
James Barclay					
Bernice Couch					
Lawrence Davenport					
Anny Melo					
Sharnell Morgan					
Elysa Sanchez					
Ethel Seymore					
Carla Thomas					